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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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I 4697 :

(i) T g7 AT E /|

(i) FGFFH-TTH 30 I97 8 51 TR GUSl — 37, &, 3N G 7 fA9ifaa 8 1

(iii) T8 37 7 CH-UF 3% qct 6 Jo7E | @S T F 6 J97 8 [577 @ 9% 2 3% 1 8 |
GUEGH 10 77 T7-T7 HH 3 | GUETHS Fo7 38 178 & I3 4 HFH H & |

(iv) o7-97 H i3 GHT [aoheq 781 & | TG 3 371 et 4 Fo71 5 37 4 3b] a1t 3 5971 7
TR [4eT YT 13T 7T & | 08 F941 & 3719 120 70 faebeql § & daer T 397 &
HATE /|

(v)  FTPA B JIIT H I7TlT T8 E |

General Instructions :

(i)  All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four Sections — A, B, C and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each. Section D contains
8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in four
questions of 3 marks each and 3 questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v)  Use of calculators is not permitted.

30/1

gug — 3H
SECTION - A

T HE&AT 1§ 6 T Ysh T 1 3T H1 8 |
Question numbers 1 to 6 carry 1 mark each.

W%M ! LA o T IRHT 31T URHT = | § 9 i 91 9"

s

B 8 7
Write whether 2 452;;33 20 on simplification gives an irrational or a rational
number.
Afgx=a,y=b TR IH x — y=2 T x + y = 4 I T g &l dl a 9T b & TH FTd
HIT |

If x = a, y = b is the solution of the pair of equations x —y = 2 and x + y = 4, find the
values of a and b.

AT 5x2 + 13 x + k = 0 T Ueh T GO A 1 Ioshd &l Al k 3T W A SHITT |

If one root of 5x% + 13 x + k = 0 is the reciprocal of the other root, then find value of k.

AABC) 9
aﬁAABC~AQRPwﬂ—Z——aaTBC= 15 3.1, & df PR 3 hifS |

AABC) 9
If AABC ~ AQRP, SAABC) 9

ar(AQRP) 4
ar(AQRP) ~ 4" nd BC = 15 em, then find PR.
2 Ccn1
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5. el o STRIGHT 1 STUM 1 : 27 2 | 5k I8 &hall I STITd A hIIT |

Two cubes have their volumes in the ratio 1 : 27. Find the ratio of their surface areas.

6. 9 AABC @ 3 fog A(5, 1) B(1, 5) @& C(-3, —1) & T WIfEH1 AD i T=T5 1

SHifsu |
A(5, 1); B(1, 5) and C(-3, —1) are the vertices of AABC. Find the length of median AD.
g -«
SECTION - B

O TEAT 7 § 12 Toh Tieh T 2 3o I 7 |
Question numbers 7 to 12 carry 2 marks each.

7. e & Fn[3 o ot GEn 2, A Rig IR (2 ++/3) Tk s de |

Given that \/§ is an irrational number, prove that (2 + \/3) is an irrational number.

8. AABC Il 4511 BC W X T fog & | XM T°T XN 5hI: Y1 AB T1 AC % HHIRR 39
TehR Wi T & foh AB =1 N A1 AC shl M W 1ed @ | MN 9T CB §¢H T T e firerdt
2 | forg hifse fos TX2 = TB x TC.

X is a point on the side BC of AABC. XM and XN are drawn parallel to AB and AC
respectively meeting AB in N and AC in M. MN produced meets CB produced at T.
Prove that TX? = TB x TC

9. 3ehfd 1 H AABCH /B =90° & BC =48 a.7fi. aam AB = 14 9.7 2 | Py@ A w=
=19 W= T, foweht g O 8 | 3= shl <9 r 1 I |

i 1
In Fig. (1), ABC is a triangle in which /B = 90°, BC = 48 cm and AB = 14 cm. A
circle is inscribed in the triangle, whose centre is O. Find radius r of in-circle.

Fig. 1
30/1 3 Ccn1
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10.

11.

12.

13.

14.

15.

16.

30/1

x TUT y T Wgeh Tra-y {1 HIe T o5 P(x, y) fomg A(1, 4) 71 B(-1, 2) & ¥
gl wE |

Find the linear relation between x and y such that P(x, y) is equidistant from the points
A(1, 4) and B(-1, 2).

aft A, B 3 C o Bt ABC % s &, 0 frg BRI cosee (252 = sec 5

o A+B C
A, B, C are interior angles of AABC. Prove that cosec 5 )=secy

Tsh A I S TUT I h YR G0H & a1 Sangdr ft G9H § | 3 376 a3k g8
QAT ST I 8 : 5 B Al gIST, foh gHehl B qen S HI U3 : 4 % |

A right circular cylinder and a cone have equal bases and equal heights. If their curved
surface areas are in the ratio 8 : 5, show that the ratio between radius of their bases to
their height is 3 : 4.

QU -
SECTION — C
9T GEAT 13 9 22 T Tcdeh 999 3 371 bl & |

Question numbers 13 to 22 carry 3 marks each.

faers TS TErTITen < TR & SEA13Ti 867 3R 255 1 HCF J1d ity |
Using Euclid’s division algorithm find the HCF of the numbers 867 and 255.

¢~ o ‘ 3
27 %1 ) WITH H $6 FohR ST foh 37k Feshml 61 417 5 & |
3
Divide 27 into two parts such that the sum of their reciprocals is 20"
Tortt AT &t T e IUH n UG T AN 3n2 + 5n qUT kAT UE 164 &, a1 k T A Fd
I |

In an A.P if sum of its first n terms is 3n% + 5n and its k™ term is 164, find the value of k.

Ffe fopet TTaaqds & € 3ma= Sfiwt & facenes (3, 2) @2 (1, 0) & qm g feareput

TER o5 (2, —5) TR FHigWIG &Ld &, T g1 311 3TN fergaTi o ek 1a shifT |
YT

aife weh g fSwres A (x, 3), (4, 4) T (3, 5) &, 1 &FThet 4 1 g3 &, Al x 1l IS |

If coordinates of two adjacent vertices of a parallelogram are (3, 2), (1, 0) and
diagonals bisect each other at (2, —5), find coordinates of the other two vertices.
OR
If the area of triangle with vertices (x, 3), (4, 4) and (3, 5) is 4 square units, find x.
4 cn
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17. 3e(d 2 4 5 9.1, B aret 99 i T a1 AB i s § 9.1, 8 | Mg AT B W
Ei=f ¢ Tl -t TR farg P o frerdht @ | AP R @aTs 3 i |

3T 2
OCI
forg Shifre fop foreht amer foig & g0 W Wi 78 Tt -wanati 1 cemgat ste 2 € |

In fig. (2) AB is a chord of length 8 cm of a circle of radius 5 cm. The tangents to the
circle at A and B intersect at P. Find the length of AP.

Fig. (2)
OR
Prove that the lengths of tangents drawn from an external point to a circle are equal.

18. W B3y it T hifSte Roreht yaime 6 2.1, g @Y. dam 10 2.4, & | o w311 By
o . .3
<h1 T <RI | Tt YT et gt bt & et b < & |
Construct a triangle with sides 6 cm, 8 cm and 10 cm. Construct another triangle

3
whose sides are 3 of the corresponding sides of original triangle.

19. fag i :
1 + tan?A (1 -tanA\2 5
(1 + cotzAj B (1 - cotA) = tanA
YAl
T F1d hifoT
cos 58° N sin 22° cos 38° cosec 52°
sin 32° * cos 68° " +[3 (tan 18° tan 35° tan 60° tan 72° tan 55°)
Prove that
1 +tan?A) (1 —tanA\2
(1 + cotzA) B (1 - cotA) = tanA
OR
Evaluate
cos 58° N sin 22° B cos 38° cosec 52°
sin 32° * cos 68° " +[3 (tan 18° tan 35° tan 60° tan 72° tan 55°)
30711 5 C/1
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T gl I BT qUT T AT hl AT U 4 A7 qer 6 9.1, 7 | 7 hifsre e
[T o 3 forgati gru 48 =vel § 7 Y ST areft gl AR R |

e
T o T ST 10 WA B | 39 1 o IRGT a1 3T o S19 b & h1 &R A1
T |

The short and long hands of a clock are 4 cm and 6 cm long respectively. Find the sum
of distances travelled by their tips in 48 hours.

OR

The side of a square is 10 cm. Find the area between inscribed and circumscribed
circles of the square.

3
zriésin(A+2B)=32£amcos (A+4B)=0,A>BRAUTA +4B <90°dl A qu1 B

FTd HIT |

3
If sin (A +2B)= lzﬂ and cos (A +4B)=0, A>B, and A + 4B <90° then find A and B.

= ST S 1 Y HH YRR S §¢H H Fed hL 38R T Gifu
Gl 0-15 15-30 | 30—-45 | 45-60 | 60-75
TRERAT 6 8 10 6 4

By changing the following frequency distribution ‘to less than type’ distribution, draw
its ogive.

Classes 0—15 | 15-30 | 30—-45 | 45-60 | 60—-75
Frequency 6 8 10 6 4
Qug -3¢
SECTION -D

9 G123 U 30 T Tceh U9 4 371 I & |

Question numbers 23 to 30 carry 4 marks each.

m T n < foht AT o foTu Wae Tfiemomi
3x+4y=12
(m+n)x+2(m-n)y=>5m— | % FINHI T 36 543 |
For what values of m and n the following system of linear equations has infinitely
many solutions.

3x+4y=12

m+n)x+2(m-n)y=5m-1

6 cn
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24, ¥gUG 3x* — 15x3 + 13x2+25x—30éswﬁwamaﬁﬁqaﬁsaé;aw\gam

—\/%M

5 5
Obtain all zeroes of 3x* — 15x3 + 13x2 + 25x — 30, if two of its zeroes are \/% and — \/%

25. e O AT aTcl] TSl T i = At Wrmel § 200 fohettiet w9 0 1 Her w4

g ol 8 | afe it =t <kt el bl =t o =1 < M ¥ 10 fhaier /e wH Bl

ST RISl <hl =Tet FTd Shifrg |

YAl

x %1 A 1A HIT ;

E:%:;=i+%+i az0,b=0,x=#0
A faster train takes one hour less than a slower train for a journey of 200 km. If the
speed of slower train is 10 km/hr less than that of faster train, find the speeds of two
trains.

OR

Solve for x

, az0,bz0,x#0

26. Toag Fifsre 6 g auew Pigsti o et b1 ITUTT 3Teh! TA Y13 < AT b o &
SIS BIAT R |

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the
squares of their corresponding sides.

27. T UEIE! o WM forrg 1 Th <o o UG forg § I=1 10 60° § AT R o Y fog &
TETS! o UTE ohT ITSH <hI0T 30° hT & | Ffe ek shl s 50 Hiet & df Ugrel i Hars Id
I |

YAl
T 80 *ff. <t T o I IR STHA-UTHH THH AT 1ed & T ol §UE | §9 o @i
% o Heh o T foig & WHT o TG % =19 07 A 60° 3T 30° 2 | GHi o Sarg
S & fiig 1 gfeat T IR |
The angle of elevation of the top of a hill at the foot of a tower is 60° and the angle of
depression from the top of tower to the foot of hill is 30°. If tower is 50 metre high,
find the height of the hill.

OR
Two poles of equal heights are standing opposite to each other on either side of the
road which is 80 m wide. From a point in between them on the road, the angles of

elevation of the top of poles are 60° and 30° respectively. Find the height of the poles
and the distances of the point from the poles.

30/1 7 Ccn1
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28.

29.

30.

30/1

Tsh OT Ush IFIUTER 1 10 Tegfifrm i aifeeat @ & 21 8 | Ieish aredt 1 s
20 T.1f). 2 | 38 S0 U Freet i <6 sreferm shEer: 36 @At aun 21 . €1 10
Sifcedl 1 @9 AT hifere Al Tegfifem sfie 1 qoa 3 42 wia 100 o .41 & | AT
HE R 79 feram ford |

A man donates 10 aluminum buckets to an orphanage. A bucket made of aluminum is
of height 20 cm and has its upper and lowest ends of radius 36 cm and 21 cm
respectively. Find the cost of preparing 10 buckets if the cost of aluminum sheet is
% 42 per 100 cm?. Write your comments on the act of the man.

o1 3tfehgt o1 HTE, AT SgeTeh ATd SHINT :
Ui 10-20 | 20-30 | 30—-40 | 40—-50 | 50-60 | 60—70 | 70 —80
TERAT 4 8 10 12 10 4 2

Find the mean and mode for the following data :
Classes 10-20]20-30|30—-40|40-50 | 50—-60 | 60—70 | 70— 80
Frequency 4 8 10 12 10 4 2

T GGk H 1 ¥ 20 T i TS § ifhd 1S W & | (T IS T Th §6&A1) T &
T HTE ATgST FHehTat TR | STRyehd FTa <hifSTT fob Fehtet TTU h1€ W 1 T

() TR |

(i) TIHEEE |

(i) 3 YN B aTefl T2 |

JAYan
52 Uil shi arer <kt T o Tt w1 sTeuTE, ST e e g fou T | 9 T Y g 6
TR TSR el TRIT | 6H B Ueh U=AT {ehTett 7T | SRkt S1d <hifore for feprett o o=
(i) THABUAE |
(i) T HTCT STGE 2 |
(i) TS HITR |

(iv) THIAME |
A box contains cards numbered from 1 to 20. A card is drawn at random from the box.
Find the probability that number on the drawn card is
(1) aprime number
(1)) acomposite number
(ii1)) a number divisible by 3
OR
The King, Queen and Jack of clubs are removed from a pack of 52 cards and then the
remaining cards are well shuffled. A card is selected from the remaining cards. Find
the probability of getting a card
(1) ofspade
(i1) of black king
(ii1)) of club
(iv) ofjacks

8 Ccn1
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Strictly Confidential — (For Internal and Restricted Use Only)

CSecondary School Certificate Examination)

July' 2018
M ar king Scheme— Mathematics 30/1 (Compt.)

[General Instructions:; \

1. The Marking Scheme provides general guidelines to reduce subjectivity in the marking. The
answers given in the Marking Scheme are suggested answers. The content isthusindicative. If a
student has given any other answer which isdifferent from the one given in the Marking Scheme,
but conveys the meaning, such answers should be given full weightage.

2. Evauation is to be done as per instructions provided in the marking scheme. It should not be
done according to one's own interpretation or any other consideration — Marking Scheme
should be strictly adhered to and religioudly followed.

3. Alternative methods are accepted. Proportional marks are to be awarded.

4. In question (s) on differential equations, constant of integration has to be written.

5. If a candidate has attempted an extra question, marks obtained in the question attempted first
should be retained and the other answer should be scored out.

6. A full scale of marks - 0 to 100 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

7. Separate Marking Scheme for all the three sets has been given.

8. As per orders of the Hon' ble Supreme Court. The candidates would now be permitted to obtain
photocopy of the Answer book on request on payment of the prescribed fee. All examiners/
Head Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.

- /
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QUESTION PAPER CODE 30/1
EXPECTED ANSWER/VALUE POINTS
SECTIONA

1
1. ForwritingM —
2.5 Z
L ) 1
=6 whichisrational >
. . 1
2. Solvingforxandyand gettingx =3,y =1 5
1
[ 1a=3,b=1 E
1

3. Letaand o betheroot
k 1
| |CX|3]; =—=1 —
o 5 2
k=5 1
= *= 2
ar (AABC) (Bc)? 1
4 a@Qrp) " (E) 2

2
= g :(Ej = PR=10cm l
4 PR 2
a 1 1
S —3 =5 =
A 27 2
a_1
~ A3
Ratio of sufracearea= iz‘ 1 i ‘l l
“eAZ 3 9 2
30/1 D
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30/1
. 1
6. Coordinatesof D are(-1, 2) >
B(1, 5) D C(-5,-1)
AD = [(5+1)2 + (1+ 2)2
_ . 1
= ~/37 units 2
SECTION B
7. Let 2++/3 bearational number.
p 1
= 2+\/’=a, p,q[L##0 >
P P—2q 1
— J3=P_p-P-4 =
q q 2
—49q. . S 1
isrational = /3 isrational number >
whichisacontraduction
L 1
2 + /3 isirrational number >
1
8. ATXN~ATCM >
P
M
N
¢ X B T
2 30/1
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30/1
TX XN _TN
= = =
TC CM TM
= TXxTM=TCxTN (i)
. 1
Again, ATBN ~ATXM >
TB BN _TN
Z TX XM M
o TNXTX ' 1
= R ..(ii) 5
using (i) in (i), we get
x2x N —1ex TN
B
) 1
— TX?=TCxTB >
9. AC=\AB?+BC?
1
= V14% + 48% =/2500 = 50cm 5
C
R
’
P ro
N
B Q A
[OOB =90° = OPBQ isasguare
1
= BQ=r,QA=14-r=AR >
AganPB=r,
1
PC=48-r=RC=48-r >
30/1 €)
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10.

12.

30/1

AR+RC=AC=14-r+48-r=50

= r=6cm

PA = PB = PAZ = PB?

P(x, y)

A(L, 4) B(-1, 2)

= (X=12+(y-47=(x+1)*+(y—-2)

= XP+1-2x+y+16-8y=x2+1+2x+y?+4 -4y

= x+y-3=0

A+B+C=180°
A+B C
=90°——
-2 2
(A+B) ( . Cj_ C
—  C0SeC| —— | = Ccosec| 90° —— |=sec—
2 2 2

Let r bethe radii of bases of cylinder and cone and h bethe height

Slant height of cone= +/r2 + h?2

2nrh 8

mryr? + h? "5

h

4
V2 +h? :E

h> 16
- r2+h2 25

L1

—  25h?=16r2+ 16h?

4)

X Mathematics
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N
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— 9h’=16r?
r_8 1.3
~ W16 h 4
SECTION C
13. 867 =255x 3+ 102

14.

15.

30/1

255=102 x 2+ 51

102=51%x2+0

= HCF=51

Let two partsbex and 27 —x

1, 1 3
X 27-x 20

= x?-27x+150=0

= (x-15(xx-12)=0

= x=12o0r15

[Thetwo partsare 12 and 15

Here, S, =3n?+5n

= §,=31%+51=8=4,
S,=322+52=2=a +3,
a,=22-8=14=d=6
t, =164 =8+ (k—1)6=164

= k=27

)
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Let the coordinates of C and D be (a, b) and (c, d)

CBSE Compartment Paper 2018

D(c, d)
(31_5)
A3, 2) B(1,0)
3+a
1 5 =2=a=1
2+Db
ad 5 =5=b=-12
c+1
Also — =5=¢=3
2
d+0
ad T=_5:>d=_10

[ 1Coordinateof Cand D are (1, -12) and (3, —10)
OR
Ar (AABC) =4
1
= E[x(4—5) +4(5-3)+3(3-4)] =4
= (—x+5)=8
= —X+5=8
= Xx=-3

AB=8cm=AM=4cm

©)

X Mathematics
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[IOM = /5% 42 =3cm
Let AP=ycm, PM =xcm
[ 1AOPPisaright angletriangle
[_1OP? = OAZ = AP?
(x+3)°=y’+25
= XxX>+9+6x=y’+25 N0 1
Also x? + 42 =y? ...(ii) 1
= X2+6Xx+9=x>+16+25
6x = 32 _%® ie Ecm
= x=32=x=le
I:Iy2= X2 +16:@+16:@
9 9
= Qcm or GEcm 1
- Y773 3
OR
. . . 1
Correct given, to prove, figureand congtruction §><4= 2
Correct proof 1
18. Congtructionof AABC withsides6 cm, 8cm, 4 cm. 1
Congtruction of smilar triangle 2
2 +tan2
19 1+tan2A:1 tan A:tanzA 1}
1+cot?A g4 1 2
tan® A
1-tanA )’ _(1-tanA 2 11
1_cotA) | tanA—-1| =(-tanA)®>=tan’A >
tan A
30/1 (7)
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1+tan?A  (1—tanA)?
Hence 5 :( j =tan’ A
1+ cot“ A 1—cot A
OR
cosb58° sin 22° c0s 38° cosec 52°

Sin32°  cos68° /3(tan18° tan 35° tan 60° tan 72° tan 55°)

( c0s58° sin 22° j c0s 38° cosec (90 —38)°
=| = —+ — |- 1+1
sin(90-58°) cos(90—22°) ) ./3(tan18° tan 35° {/3 [Eot 18° cot 35°)
141 c0s 38° sec 38
31
1 5
=2——==
3 3 1
20. Distancetravelled by short hand in 48 hours=4 x 21 x 4 cm= 321 cm 1
Distancetravelled by long hand in 48 hours =48 x 2rt x 6cm = 5761 cm 1
Total distancetravelled = (32m + 576m)cm
=608t cm 1
OR
. . . 1
Radiusof inner circle=5cm >
Radius of outer circle= 5v/2 cm 1
Required area=Areaof outer circle—Areaof inner circle 1
A ;/T—DV\ B
C D
1
= [(5J2)*-5%] = 25n cn? :
8) 30/1
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21. sn(A+2B)=- = A+2B=60°

N[ &

CoOS(A+4B)==A+4B=90°

Solving, weget A =30°, B=15°

22. Classes Frequency Classes Cumulativefrequency
0-15 6 Lessthan 15 6
15-30 8 Lessthan30 14
30-45 10 Lessthan 45 24
45-60 6 Lessthan 60 30
60-75 4 Lessthan75 34

T 35+
= 30F
T 25)
§ 20+
g

& 15+
£ 10}
3 |

0 1

15 30 45 60 75
Upper limits ——

SECTION D
23.  Forinfinitely many solutions.

3 4 12
m+n 2(m-n) —5m-1)

3 4
-—— = m-5n=0
m+n 2(m-n) (1)

4 12

L =—— = m-6n=-1
2Am-n) = Bm_1 (2

Solving (1) and (2) weget, m=5,n=1

30/1 ©)
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24.  p(x) = 3x*—15x3 + 13x + 25x — 30

X — \E and X+ \E arefactorsof p(x)

2 5, (3x*-9

X isafactor of p(x 1
R pX)
(3x°-5) . 2
p(x):T(x —5x +6) 2
1.2
::—3’(3x -5 (x-3)(x-2)
5 5
[ 1Zeroesof p(x) are 3 5,2 and 3 1
25. Letthespeed of faster trainbex knvhr
. 1
[ 1Speed of dower train= (x—10) km/hr >
200 200 . L
x-10 x 2
= x?-10x—-2000=0 1
= (x-=50)(x+40)=0 1
x =50, —40 rejected
[ 1Speed of faster train=50km/ hr 1
Speed of slower train=40km/ hr
OR
1 11
-4+ -4+
atb+x a b
1 1_1.1
~ a+b+c x a b
(10)
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—(a+tb) a+b
x(@+b+x)  ab 2
= x’+(a+bx+ab=0 1
(x+a) (x+b)=0=x=-a,-b 1
. . . 1
26. Correct figure, givento proveand congtruction 5 x4=2
Correct proof 2
A
27. hill Correct figure 1
D ~3p°
Tower 0 h
50 m
60° 309
C X B
h
InAABC, X tan 60°
= h=x43 1
InABCD, 0 _ tan 30°
X
= x=50/3 1
[ 1h=150
[height of hill=150m 1
OR
E
A
h
h Correct figure 1
_ VAV
D 80x C X
< 80m >
30/1 (1)
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InAABC, ; = tan 60°
= h=x/3 (1)

h
InAECD, 0_x =tan 30

= h3 =80-x

From (1), X+/3%+/3 =80 —x
= x=20

[—1h= 2043

[_1height of poles= 20+/3m
Distances of poles from the point are20mand 60 m

28. Surfaceareaof bucket = Ti(r, +r,)l +1r,?

1= Jh% + (1, —1y)2 = /207 + (36 — 21)?
= 4625=25cm
22 2
[_ISurface areaof 1 bucket = 7[(36 +21)x 25+ 217]

- % x 1866 cm?

Surface areaof 10 buckets = % x 18660 cm?

Cost of dumini _ 22 18660x 42
of duminium sheet = 7 100

=% 24631.20

Any relevant comment

(12)

X Mathematics

N~

N
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29. Classes Frequency X; f.x;
10-20 4 15 60
20-30 8 25 200
30-40 10 35 350
40-50 12 45 540
50-60 10 55 550
60-70 4 65 260
70-80 2 75 150
Totd 50 2110

X = Zg'fx' =210 40
i

30.

30/1

40-50ismodal class
Mode= | y_i=fo) h
1—fo—1

= 4o+ﬂx10=45
24-10-10

() Primenumbersfromlto20are?,3,5,7,11,13,17,19i.e.8

8 2
i =— O —
P(prime number) 0 5

(i)  Composite number from1to 20 are

4,6,8,9, 10, 12, 14, 15, 16, 18, 20i.e. 11

11
P(Composite number) = 0

(>iii)  Number divisibleby 3from1to 20 are

3,6,9,12,15,18i.e6

(13)
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anberd"'blb3—£0ri 1
(nu Ivis ey)—20 10
OR
Total number of cards=52 -3 =49
) Plspade) = — 1
i) P(black king) = i 1
i) P(club —E 1
(i) P(club) = 29
i P(Jack) = i 1
(14 30/1
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